Bergen County Mathematics League

Problem Author: Problem Editor:
Steve Conrad Dan Flegler

www.mathleague.com www.mathleague.com
Brief Contest Solutions #4 2010-2011

H-1) bx-ap+by X o blxey) —alxty) _x91(b-2y fxay)
mb +an —am “bn - TR T A Tm Y T m-n Y (eead tm-n) |

hci‘:CeO‘
becaust of Inihad Cmdihons
A
q..L) Nz ) BC=6=>B0= 3 Vi (33 He law of Cosmesl
& AB=12DpE=6Vr
. NS DeZ BE -+ BoY - 2(8E)(40) cos 3 DBE, 4o
7% be¥ s cew) 4BV -2 EAX3 L) (a1
D Dek Fo+A so OH 2 Fo+36 =‘

-3 The Lrackin, is Undefined if any denominatur 40, For s
Srockion Hhere are Hthree wWays a denominator Canbeo: i

X—k(s:o/} i ;(-)sq:-‘i o~ ¥ 1+ ;(_2&' =~|, The inadmissable ualue
ox ave [4,7, E‘g!,

t-y) There are $xSxS =35> Combosef weekc‘alswaf tan be
Sel\ecfzd but Sxux3 = 6o of Hrese | nuolve different seleckas
o€ different ploy days) 4o Prob = €9 _ [

ws~ {ay

U-5) TEL %X =% -2 Hen eadh Hebon alsd equals Xtyt
v S t , r4+s+t
Therefos Avbr < =3, So athbics ‘

24-(a+btc)

4=6) Note ttad 3(n-2) >h fo- N2S, and 3 222r2 =6, bt
2x3 > 22X, po W@ Gs wany 35 as possible unk) nd U, when
Wi Use 2s as factons ,—U'\q_ (amgenf lPJ.”LuJM iglkx-)_

| —
.

©2010 by Steven R. Conrad, www.mathleague.com



